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QUESTION 1

Which three conditions must be met for an endpoint to return results for an analysis?
A. The analysis must be activated.

B. The applicability relevance must evaluate to True.

C. A master operator must first activate the analysis.

D. The endpoint must be in the domain containing the analysis.

E. The endpoint must be subscribed to the site containing the analysis.

F. The analysis property definitions must be the same as the applicability relevance.

Correct Answer: ADF

QUESTION 2

Targets have repotted a failed status for an action. How can the Action ID be obtained so it can be used while searching
the IBM Endpoint Manager (IEM) client logs?

A. Right-click the action in the IEM console and select Show Action ID.

B. On the target endpoint. look for the most recent Action file within the BES client directory.

C. In the IEM console, click on the Summary tab of the deployed action and view the Details section.

D. In the Details tab for the Fixlet/Task locate the Fixlet/Task ID. The Action ID is the same as the FixletfTaskID.

Correct Answer: A

QUESTION 3

How is a manual group defined?

A. A Fixlet group that is created by an operator.

B. A computer group whose members are static.

C. A Fixlet group that can only contain Windows patches.

D. A computer group that can only be used to deploy Windows patches.

Correct Answer: B

QUESTION 4
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What are two required attributes to create a named analysis?
A. Property Size

B. Property Definition

C. Number of Results

D. Reporting Frequency

E. Computer IDs of Targeted Clients

Correct Answer: DE

QUESTION 5

A retrieved property is configured to return results for relevant endpoints once every 24 hours. The last property result
for a specific endpoint was six hours ago. The configuration has changed so the next time the result is returned, it will be
different than the result from six hours ago. When will the endpoint return an updated result?

A. As soon as the client loop has completed.

B. In approximately 18 hours, if the endpoint is online.

C. There will not be a new result until the retrieved property has been deactivated and reactivated.

D. Immediately; a change in property value will cause the endpoint to upload a new result to the server.

Correct Answer: B
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